GEOMETRIC PROPERTIES OF SHAPE FUNCTIONS OF SELF-SIMILAR SOLUTIONS

ZHONG BO FANG

Department of Mathematics Chonnam National University Kwangju, 500-757, Korea e-mail: fangzb7777@hotmail.com

Abstract

We study some geometric properties of shape functions of self-similar solutions to the initial-boundary value problem with homogeneous Neumann boundary condition for the semi-linear parabolic equation:

$$u_t = u_{xx} + (|u|^{q-1}u)_x - |u|^{p-1}u$$
, where p, q are positive numbers.

These shapes of the solutions of the corresponding nonlinear ordinary differential equation are of very different nature. The properties usually depend on the critical value q = 1, 2; p = 1, 3 and initial data as usual.

1. Introduction

In this paper, we consider a semi-linear parabolic equation:

$$u_t = u_{xx} + (|u|^{q-1}u)_x - |u|^{p-1}u \text{ in } Q$$
 (1.1)

with homogeneous Neumann boundary condition

$$u_x(0, t) = 0, (1.2)$$

where $Q = \{(x, t) | x > 0, t > 0\}.$

2000 Mathematics Subject Classification: 35K55, 35B40.

Keywords and phrases: self-similar, very singular solution, blow-up.

This work was supported in part by R14-2003-019-01001-0 of KOSEF.

Submitted by Q-Heung Choi

Received March 21, 2007

© 2007 Pushpa Publishing House

Equation (1.1) appears in the description of a continuous medium for which the constitutive relation for the stress contains a large linear proportional to the strain, a small term which is quadratic in strain, and a small dissipative term proportional to the strain rate. The inviscid form of (1.1) arises in several applications, which includes nonlinear acoustic propagation [19], the Gunn effect in semiconductors [17], rotating thin liquid films [18], chloride concentration in kidney [16] and flow of petroleum in underground reservoirs [5, 10]. This has also been considered by Bukiet et al. [3] in the inviscid limit. Moreover, equation (1.2) is appear in heat conduction and filtration process. One says that the term u_{xx} is diffusion term, $(|u|^{q-1}u)_x$ is convection term, $|u|^{p-1}u$ is absorption term, see [22]. The actual physical model involving (1.1) which is subject to random initial data and through analytical understanding is beyond our ability. Thus, in this paper we consider simple case, where the initial value $u(x, 0) = u_0(x)$ is a deterministic function.

We are interested in nonnegative solutions of the nonlinear heat equation (1.1) having the form

$$u(x, t) = t^{-\alpha} g(xt^{-\beta}) := t^{-\alpha} g(\xi),$$
 (1.3)

where α , β are some real numbers and $(x, t) \in Q$.

For equation (1.1), we substitute (1.3) into (1.1) and obtain

$$\alpha := \frac{1}{2(q-1)} = \frac{1}{p-1}, \quad \beta := \frac{1}{2}, \quad p = 2q-1$$
 (1.4)

and *g* as a function of $\xi = xt^{-\beta}$, is defined on $[0, \infty)$, solves of ODE:

$$g'' + \frac{\xi}{2}g' + \alpha g + q|g|^{q-1}g' = |g|^{p-1}g.$$
 (1.5)

The self-similar solutions play an important role in the large time behavior of solutions of problem (1.1) with (1.2) and initial data u_0 . We observe that if u(x, t) solves (1.1), then the rescaled functions

$$u_{\rho}(x, t) = \rho^{(2-q)/(q-1)} u(\rho x, \rho^2 t), \quad \rho > 0$$
 (1.6)

define a one parameter family of solutions to (1.1). A solution u(x, t) is said to be *self-similar* when $u_{\rho}(x, t) = u(x, t)$ for every $\rho > 0$. It can be easily verified that u(x, t) is a self-similar solution to (1.1) if and only if u has the form (1.3), where g satisfies (1.5), $\xi = xt^{-\beta}$ and α , β are as above.

In this note we shall classify completely positive solutions of (1.5) according to the parameters p, q. In the mean time, we shall find conditions on p, q which ensure the existence of the so-called very singular (self-similar) solutions for (1.1). The very singular solution has a stronger singularity at the origin than the singular solution of that equation.

By a *singular solution* we mean a nonnegative and nontrivial solution which satisfies the equation and initial-boundary conditions on $\overline{Q} \setminus (0, 0)$ and satisfy

$$\lim \sup_{t > 0} u(x, t) = 0 \quad \forall \varepsilon > 0. \tag{1.7}$$

A singular solution is called a very singular solution if

$$\lim_{t \to 0} \int_{x \le \varepsilon} u(x, t) \, dx = \infty. \tag{1.8}$$

Note that condition (1.7) is equivalent to, if u is given by (1.3),

$$\lim_{\xi \to \infty} \xi^{\alpha/\beta} g(\xi) = 0. \tag{1.9}$$

Furthermore, if $0 < \beta < \alpha$ and the solution g of (1.5) satisfies (1.9), then u(x, t) given explicitly by (1.3) satisfies (1.7) and (1.8), i.e., it is a very singular self-similar solution of (1.1).

Here, we apply a shooting method and replace the condition at infinity by the one at the origin. We thus study an initial value problem (1.5) for $\xi > 0$ with:

$$g'(0) = 0, \quad g(0) = \lambda,$$
 (1.10)

here λ may be any positive number. This initial value problem (1.5) with (1.10) for each $\lambda > 0$ a unique solution which we shall denote by $g(\xi, \lambda)$.

In many cases, it turns out that the limit

$$L(\lambda) = \lim_{\xi \to \infty} \xi^{2\alpha} g(\xi) \text{ exists,}$$
 (1.11)

and we distinguish between fast and slow orbits according to whether $L(\lambda) = 0$ or not respectively. As mentioned before the fast orbit brings out a very singular solution of (1.1).

Our goal is to find values q, p and initial data λ which ensure that $g(\cdot, \lambda)$ is either sign changing solution or a global positive decaying solution to ODE (1.5) with condition (1.10) (this is certainly the case $\alpha > 0$) and to give asymptotic behavior of solutions at near infinity. Moreover, in the case $\alpha < 0$, we shall describe which values q, p and λ give a global positive solutions blowing up to infinity and find its blow-up rate at infinity. In the first case, the asymptotic behavior of solutions are classified by either fast or slow orbits.

There have been many works on the deals with the existence, uniqueness and geometric properties of shape functions of self-similar solutions to a class of parabolic equations with absorption (or source, convection) term. For instance, it is thoroughly treated on the porous medium equation with absorption term;

$$u_t = \Delta u^m - u^q$$

with m > 0, q > 1. For m = 1 (linear diffusion case), see [2], [6], for m > 1 (slow diffusion case), see [21] and for 0 < m < 1 (fast diffusion case), see [13], [14]. Recently some papers studied for a class of convection-diffusion equation with absorption term;

$$u_t = \Delta u \pm a \cdot \nabla (|u|^{q-1}u) - |u|^{p-1}u,$$

where p, q > 1. The key to prove their results is to deduce new equation by rotating the coordinate axes and rescaling. They also derived some estimates and used a convergence of rescaled solutions to self-similar (non-radial) ones and thus concluded that the asymptotic of general solutions is self-similar, see [15], [14], et al. Similar argument is used in a convection-diffusion equation without absorption term, see [7], [8], for

details. In addition, in papers [1], [11], [20], the very singular self-similar solutions are considered on half line because there does not exists any radial symmetric solution. Here, we use a simple method (via shooting) to investigate the self-similar solutions under the homogeneous Neumann boundary problem in one dimension and classify all the self-similar solutions completely for q > 0, q = 2p - 1. Moreover, in each cases, we may find rich geometric properties appeared before.

The plan of the paper is the following. In Section 2, we obtain basic properties of g which will be useful in the proof of the main results. In Section 3, we study the existence, nonexistence of global positive solutions and find decay rates of global positive decay solutions in the nice case $\alpha > 0$. In Section 4, we study the existence and find blow-up rate of infinite blow-up solutions in case $\alpha < 0$.

2. Preliminary Results

In this section we shall derive some basic properties of g which will be useful in the proof of the main results. In fact, we first show that $g'(\xi)$ has one sign depending on the sign of α and size of λ .

Lemma 2.1. Assume that $\alpha > 0 \ (p > 1, q > 1), \lambda > 0$. Let g be a solution of (1.5), (1.10) such that g > 0 on $[0, \xi_0)$.

Then

(i)
$$g'(\xi) < 0$$
 for all $\xi \in (0, \xi_0)$ and $0 < \lambda < \lambda^*$,

(ii)
$$g'(\xi) = 0$$
 for all $\xi \in (0, \xi_0)$ and $\lambda = \lambda^*$,

(iii)
$$g'(\xi) > 0$$
 for all $\xi \in (0, \xi_0)$ and $\lambda > \lambda^*$,

where
$$\lambda^* = \left(\frac{1}{|p-1|}\right)^{\frac{1}{p-1}}$$
.

Proof. By (1.5), (1.10) we obtain $g''(0) = \lambda^p - \alpha \lambda < 0$ and g'(0) = 0, the function g is strictly decreasing for small ξ . Suppose that there exists ξ_1 such that $g'(\xi) < 0$ on $(0, \xi_1)$ and $g'(\xi_1) = 0$. Using (1.5) one sees

 $g''(\xi_1) < 0$. This contradicts to the left hand side of point ξ_1 . By similar method we easily prove (ii) and (iii).

Lemma 2.2. Assume that $\alpha < 0 \ (0 < q < 1, \ 0 < p < 1), \ \lambda > 0$. Let g be a solution of (1.5), (1.10) such that g > 0 on $[0, \xi_0)$.

Then $g'(\xi) > 0$ for all $\xi \in (0, \xi_0)$ and $\lambda > 0$.

Proof. The proof is similar to Lemma 2.1.

Next, we show that there does not exist any zero of $g(\xi)$ for $\alpha \leq \frac{1}{2}$.

Lemma 2.3. Assume that $\alpha \le \frac{1}{2}$ $(p \ge 3, q \ge 2 \text{ or } 0$

Then g > 0 for any $\xi > 0$, $\lambda > 0$.

Proof. Suppose that g has first zero ξ_1 and such that $g(\xi_1) = 0$, $g'(\xi_1) < 0$, $g(\xi) > 0$ on $\xi \in (0, \xi_1)$.

By integrating from 0 to ξ_1 , we obtain

$$g'(\xi_1) = \left(\frac{1}{2} - \alpha\right) \int_0^{\xi_1} g(s) ds + \int_0^{\xi_1} g^p(s) ds + \lambda^q.$$

Since the sign of left hand side is negative and the sign of right hand side is positive, this is impossible.

3. The Case
$$\alpha > 0 \ (q > 1, p > 1)$$

3.1. The case
$$0 < \alpha \le \frac{1}{2} (q \ge 2, p \ge 3)$$

In this subsection, we show that there does not exist any fast orbit if $\alpha \ satisfies \ 0 < \alpha \leq \frac{1}{2}.$

We denote by $(0, \xi_{max})$ the maximal existence interval of positive solution. By Lemma 2.1, g' < 0 in $(0, \xi_{max})$ for any $\lambda \in (0, \lambda^*)$ and

either

(1) $\xi_{\text{max}} = \infty$ and $\lim_{\xi \to \infty} g(\xi; \lambda) = 0$, or

(2)
$$\xi_{\text{max}} < \infty$$
 and $g(\xi_{\text{max}}; \lambda) = 0$.

Note that we easily see that the problem (1.5), (1.10) has global positive decay solution for $\lambda \in (0, \lambda^*)$ by Lemmas 2.1 and 2.3.

Theorem 3.1. Assume $0 < \alpha \le \frac{1}{2}$. For each $\lambda \in (0, \lambda^*)$, let $g(\xi; \lambda)$ be the solution of (1.5), (1.10).

Then g > 0, and g' < 0 in $(0, \infty)$ and $\lim \inf_{\xi \to \infty} \xi^{2\alpha} g(\xi; \lambda) > 0$.

Proof. Multiplying (1.5) by $\xi^{2\alpha-1}$ we have, for $\xi \in (0, \xi_{max})$,

$$\left(\xi^{2\alpha-1}g'+\frac{1}{2}\,\xi^{2\alpha}g\right)'=\xi^{2\alpha-1}\!\!\left(g''+\frac{2\alpha-1}{\xi}\,g'+\alpha g+\frac{\xi}{2}\,g'\right)\!.$$

By (1.5), we get

$$\left(\xi^{2\alpha-1}g'+\frac{1}{2}\xi^{2\alpha}g\right)'=\xi^{2\alpha-1}\left(\left|\left.g'\right.\right|^{q}+\frac{2\alpha-1}{\xi}\left.g'-qg^{q-1}g'\right)>0$$

by Lemma 2.1.

Define the function $F(\xi) := \xi^{2\alpha-1}g' + \frac{1}{2}\xi^{2\alpha}g$ then $F(\xi)$ is strictly increasing in $(0, \xi_{\max})$. Note that $\lim_{\xi \to 0} F(\xi) = 0$, we have F > 0 in $(0, \xi_{\max})$. Since g' < 0, we conclude that $\xi_{\max} = \infty$ and g decays to 0 as ξ tends to infinite. Moreover, $\xi^{2\alpha}g(\xi;\lambda) \geq 2F(\xi)$ and $F(\xi)' > 0$, hence $\lim\inf_{\xi \to \infty} \xi^{2\alpha}g(\xi;\lambda) > 0$.

We shall see later that the limit $\lim_{\xi\to\infty}\xi^{2\alpha}g(\xi;\lambda)$ exists for each $\lambda\in(0,\lambda^*)$. Thus we may conclude together with Theorem 3.1 that there exist slow orbits only.

3.2. The case $\alpha > \frac{1}{2} (1 < q < 2, 1 < p < 3)$

In this subsection, we first show that the solution changes sign for small λ and we next show that the solution becomes a positive global solution decaying to zero for suitably large λ . We then prove that these solutions are either slow or fast orbits. The slow orbits are ordered and the minimal one becomes the fast orbit as we have seen in many cases, see [3], [12] for example.

By Lemma 2.1, if g is a solution of problem (1.5), (1.10), then g decreases as long as positive for any $0 < \lambda < \lambda^*$ and we first show that

Theorem 3.2. Assume that $\alpha > \frac{1}{2}$

Then $g(\xi, \lambda)$ changes the sign for sufficiently small $\lambda > 0$. That is, $\xi_{max} < \infty$.

Proof. We choose $\lambda=\varepsilon>0$ is sufficiently small and let $g_\varepsilon=\frac{g}{\varepsilon}$. Thus, g_ε such that in the following equation

$$\begin{cases} g_{\varepsilon}'' + \frac{\xi}{2} g_{\varepsilon}' + \alpha g_{\varepsilon} + \varepsilon^{q-1} |g_{\varepsilon}|^{q-1} g_{\varepsilon}' = \varepsilon^{p-1} |g_{\varepsilon}|^{p-1} g_{\varepsilon} \text{ in } \xi > 0 \\ g_{\varepsilon}'(0) = 0, \quad g_{\varepsilon}(0) = 1. \end{cases}$$

Define the energy function $E(g_{\varepsilon})\coloneqq (g'_{\varepsilon})^2+\alpha g_{\varepsilon}^2-\frac{2}{p+1}\,\varepsilon^{p-1}g_{\varepsilon}^{p+1}$. By differentiating we have $\frac{d}{d\xi}E(g_{\varepsilon})=-2(g'_{\varepsilon})^2\Big(\frac{\xi}{2}+q\varepsilon^{q-1}|g_{\varepsilon}|^{q-1}\Big)<0$. Hence $E(g_{\varepsilon})$ is uniformly bounded by $\alpha-\frac{2}{p-1}=\frac{3-p}{p^2-1}$ and $(g'_{\varepsilon})^2+\frac{3-p}{p^2-1}\varepsilon^{p-1}g_{\varepsilon}^2\leq E(g_{\varepsilon})\coloneqq (g'_{\varepsilon})^2+g_{\varepsilon}^2\Big(\alpha-\frac{2}{p+1}\,\varepsilon^{p-1}g_{\varepsilon}^{p-1}\Big)$, both g_{ε} and g'_{ε} are uniformly bounded with respect to $\xi\geq 0$ and $\varepsilon>0$. Therefore, it follows by standard continuity arguments that

$$g_{\varepsilon} \to g_0$$
 as $\varepsilon \to 0$ in $C^2([0, R])$

for any R > 0, where g_0 is the solution of the reduced problem

$$\begin{cases} g'' + \frac{\xi}{2}g' + \alpha g = 0 & \text{in } \xi > 0 \\ g'(0) = 0, & g(0) = 1. \end{cases}$$
 (3.2.1)

We claim that g_0 has a zero when $\alpha > \frac{1}{2}$. By contradiction suppose that $g_0(\xi) > 0$ for $\xi > 0$. Thus, $g_0'(\xi) < 0$ for any $\xi > 0$ and so $g_0(\xi) \le 1$ for $\xi \ge 0$. Integrating (3.2.1) over $(0, \xi)$, we obtain

$$g_0'(\xi) + \frac{1}{2} \xi g_0(\xi) = \left(\frac{1}{2} - \alpha\right) \int_0^{\xi} g_0(s) ds < -A \text{ for large } \xi$$

for some positive number A. This is impossible. Hence, g_0 has a zero. Since $g_0' < 0$ at the first zero of g_0 , it follows that for ε sufficiently small, g_{ε} has a zero as well.

Next, we prove the existence of positive global decay solutions for suitable large $\lambda \in (0, \lambda^*)$. Indeed, they have either fast or slow orbits and so we obtain asymptotic behavior of solutions of the initial boundary problem for ξ tends to infinity. We need the following lemmas

Lemma 3.3. Assume that $\alpha > 0$ (q > 1, p > 1). Let g be a solution of (1.5), (1.10) such that $g(\xi) > 0$ for $\xi > 0$.

Then
$$\lim_{\xi \to \infty} g(\xi) = 0$$
, $\lim_{\xi \to \infty} g'(\xi) = 0$.

Proof. By Lemma 2.1, g' < 0 and g is bounded below by 0. Thus, $g \to g_0 < \infty$ as $\xi \to \infty$. First there exists sequence ξ_n such that $g'(\xi_n) \to 0$ as $\xi_n \to \infty$.

Now define the energy function $E(g) \coloneqq g'^2 + \alpha g^2 - \frac{2}{p+1} g^{p+1}$. By differentiating we have $\frac{d}{d\xi} E(g) = -2(g')^2 \left(\frac{\xi}{2} + q |g|^{q-1}\right) < 0$. Hence E(g) is monotone decreasing for any ξ and so one deduces that $g'(\xi) \to 0$ as $\xi \to \infty$. We claim that g_0 vanishes. By contradiction, we suppose that

 $g_0 > 0$. The equation (3.2.1) gives

$$\begin{split} g'' + \left(\frac{\xi}{2} + q\lambda^{q-1}\right)g' &= -\alpha g + q(\lambda^{q-1} - g^{q-1})g' + g^p \\ &\leq -\alpha g + g^p \leq \left(-\alpha + \lambda^{p-1}\right)g_0. \end{split}$$

Define the functions $a(\xi) \coloneqq \frac{1}{2} \xi + q \lambda^{q-1}$, $A(\xi) \coloneqq \frac{\xi^2}{4} + q \lambda^{q-1} \xi$. Multiplying this by $e^{A(\xi)}$ and integrating we obtain

$$g'(\xi) < (\lambda^{p-1} - \alpha) g_0 e^{-A(\xi)} \int_0^{\xi} e^{A(s)} ds.$$

Since

$$\lim_{\xi \to \infty} \frac{\int_0^{\xi} e^{A(s)} ds}{\frac{1}{\xi} e^{A(\xi)}} = 2,$$

we infer

$$g'(\xi) < -\frac{C}{\xi}$$
 for large ξ

for some positive number C, which implies that $g(\xi) \to -\infty$ as $\xi \to +\infty$. This is impossible which completes the proof.

We rewrite (1.5), (1.10) as

(1.10) as
$$\begin{cases} g' = h \\ h' = -\frac{\xi}{2}h - \alpha g - qg^{q-1}h + g^{p}. \end{cases}$$
(3.2.2)

The initial condition now becomes

$$g(0) = \lambda, \quad h(0) = 0,$$

that is, the orbits start on the positive g-axis. Since this axis consists of regular points, the existence of a local solution (g, h) is ensured for every $\lambda > 0$. All along g-axis, the vector field points into the fourth quadrant. Hence, as long as the orbit exists and g > 0, we have h < 0. Note that this system has only two critical points $(0, 0), (0, \lambda^*)$.

Given any $\delta > 0$, we denote

$$\mathcal{L}_{\delta} = \{ (g, h) : 0 < g < \lambda^*, 0 > h > -\delta g \}.$$

By a similar argument as in [2] we obtain the following lemmas.

Lemma 3.4. For given $\delta > 0$, there exists $\xi_{\delta} := 2\left(\delta + \frac{\alpha}{\delta}\right)$ such that \mathcal{L}_{δ} is positively invariant for $\xi > \xi_{\delta}$. That is, $(g(\xi_{\delta}), h(\xi_{\delta})) \in \mathcal{L}_{\delta}$ implies that the orbit $(g(\xi), h(\xi))$ of (3.2.2) remains in \mathcal{L}_{δ} for all $\xi \geq \xi_{\delta}$.

Remark 3.5. Indeed, if $\delta=1$, then $0< g< \lambda^*, \ g'+g>0$ when $\xi<\xi_{max}$ and ξ close to ξ_{max} . Thus $\xi_{max}=\infty$.

Remark 3.6. If λ is sufficiently close to λ^* , then $g(\xi, \lambda) > 0$ for all $\xi \geq 0$. The proof is similar to Lemma 4 in reference [2], which implies that the existence of the global positive decay solution for suitably large $\lambda < \lambda^*$.

According to Lemmas 3.3 and 3.4 we have

Lemma 3.7. Suppose $g(\xi, \lambda) > 0$ for all $\xi > 0$.

Then either

$$\lim_{\xi \to \infty} \frac{g'}{g} = 0$$

or

$$\lim_{\xi \to \infty} \frac{g'}{g} = -\infty$$

The proof is similar to the proof in paper [2]. For simplicity, we omit the details.

Now we are going to deal with the behavior of positive solutions g of (1.5), (1.10) as ξ goes to infinity. We know that if g remains positive it must go to 0. It turns out that (g, g') can approach (0, 0) along two directions on phase plane only. Moreover, we know that the existence of the strictly decaying positive solution by Remark 3.6 and then we may suppose the existence of the global, positive solution.

Proposition 3.8. Let g be a solution of (1.5), (1.10) such that g > 0 for any $\xi > 0$.

Then the limit $L(\lambda) = \lim_{\xi \to \infty} \xi^{2\alpha} g(\xi)$ exists in $[0, +\infty)$ and we have

$$\lim_{\xi \to \infty} \frac{g'}{g} = -\infty \Rightarrow L(\lambda) = 0,$$

$$\lim_{\xi \to \infty} \frac{g'}{g} = 0 \Rightarrow L(\lambda) > 0.$$

Proof. If $\lim_{\xi \to \infty} \frac{g'}{g} = -\infty$, then $g(\xi) = O(e^{-k\xi})$ as $\xi \to \infty$. And so $\xi^{2\alpha}g(\xi) \to 0$ as $\xi \to \infty$. Thus $L(\lambda) = 0$.

Now suppose that

$$\lim_{\xi \to \infty} \frac{g'}{g} = 0.$$

Set $u(\xi) = \frac{g'}{g}$, then u such that

$$u' + \frac{\xi}{2}u = -\alpha + \varphi(\xi), \quad u(0) = 0,$$

here $\varphi(\xi) = -qg^{q-1}u - u^2 + g^{p-1}$. Note that $\varphi(\xi) \to 0$ as $\xi \to \infty$. By simple calculation,

$$u(\xi) = e^{-\frac{\xi^2}{4}} \int_0^{\xi} \{-\alpha + \varphi(s)\} e^{\frac{s^2}{4}} ds,$$

for any $\xi > 0$.

And by the L'Höpital's rule, we obtain

$$\lim_{\xi \to \infty} \xi u(\xi) = \lim_{\xi \to \infty} \frac{\int_0^{\xi} \left\{ -\alpha + \varphi(s) \right\} e^{\frac{s^2}{4}} ds}{\frac{1}{\xi} e^{\frac{\xi^2}{4}}} = -2\alpha.$$

Thus, $u = \frac{g'}{g}$ satisfies

$$u(\xi) = \frac{-2\alpha}{\xi} + \frac{o(\xi)}{\xi}$$
 for large ξ ,

which leads to

$$g(\xi) = L(\lambda) \xi^{-2\alpha} \{1 + o(1)\}, \quad L(\lambda) > 0.$$

We also give the asymptotic behavior of $g(\xi, \lambda)$ for suitably large $\lambda < \lambda^*$.

Theorem 3.9. Let g be a solution of (1.5), (1.10) such that g > 0 for any $\xi > 0$.

1. If $L(\lambda) = 0$, then there exists A > 0 such that

$$g(\xi, \lambda) = A\xi^{2\alpha-1}e^{-\frac{\xi^2}{4}}\{1 - b\xi^{-2} + o(\xi^{-2})\},$$

as $\xi \to \infty$.

2. If $L(\lambda) > 0$, then

$$g(\xi, \lambda) = L(\lambda) \xi^{-2\alpha} \{1 - c\xi^{-2} + o(\xi^{-2})\},$$

as
$$\xi \to \infty$$
, where $b := \frac{(2q-3)(q-2)}{(q-1)^2}$, $c := -2\alpha(1+2\alpha) + 2\alpha q[L(\lambda)]^{q-1} + [L(\lambda)]^{p-1}$.

Proof. 1. Define

$$Q(\xi) \coloneqq \xi h + \frac{1}{2} \xi^2 g(\xi)$$

$$G := \xi^2 Q(\xi) - (2\alpha - 1)\xi^2 g(\xi).$$

By direct calculation, we obtain

$$\lim_{\xi \to \infty} \frac{h}{\xi g} = -\frac{1}{2}, \lim_{\xi \to \infty} \frac{Q}{g} = 2\alpha - 1,$$

$$\lim_{\xi \to \infty} \frac{G}{g} = 4(\alpha - 1)(2\alpha - 1) := 2b.$$

Therefore, there exists positive number A such that

$$g(\xi, \lambda) = A\xi^{2\alpha - 1}e^{-\frac{\xi^2}{4}}\{1 - b\xi^{-2} + o(\xi^{-2})\},\$$

as $\xi \to \infty$.

2. When $L(\lambda) > 0$, we deduce

$$\begin{split} \lim_{\xi \to \infty} \xi^2(\xi u(\xi) + 2\alpha) &= 2 \lim_{\xi \to \infty} \xi^2 \varphi(\xi) - 4\alpha \\ &= -8\alpha^2 - 4\alpha + 2 \lim_{\xi \to \infty} (\xi^2 g^{p-1} - q\xi^2 g^{q-1}u), \end{split}$$

where $\varphi(\xi) = -g^{q-1}u - u^2 + g^{p-1}$.

Since

$$\lim_{\xi \to \infty} (\xi^2 g^{p-1} - q \xi^2 g^{q-1} u) = \lim_{\xi \to \infty} [(\xi^{\frac{2}{p-1}} g)^{p-1} - q(\xi u) (\xi^{\frac{1}{q-1}} g)^{q-1}]$$
$$= (L(\lambda))^{p-1} + 2\alpha q (L(\lambda))^{q-1},$$

we have

$$\lim_{\xi \to \infty} \xi^{2}(\xi u(\xi) + 2\alpha) = -8\alpha^{2} - 4\alpha + 2(L(\lambda))^{p-1} + 4\alpha q(L(\lambda))^{q-1} := 2c.$$

Thus, $u = \frac{g'}{g}$ satisfies

$$u(\xi) = \frac{-2\alpha}{\xi} + \frac{2c}{\xi^3} + \frac{o(\xi)}{\xi^3} \quad \text{for large } \xi,$$

which leads to

$$g(\xi, \lambda) = L(\lambda) \xi^{-2\alpha} \{1 - c\xi^{-2} + o(\xi^{-2})\},$$

as $\xi \to \infty$.

Finally, we show that positive solutions are ordered and cannot intersect each other.

Theorem 3.10. Assume that $\alpha > 0$ and g_i are solutions of problem (1.5), (1.10) with initial data $g_i(0) = \lambda_i > 0$, such that $g_i(\xi) > 0$ for $\xi > 0$ and $\lambda_2 > \lambda_1$ for $\lambda_i \in (0, \lambda^*)$, i = 1, 2.

Then $g_2(\xi) > g_1(\xi)$, $g_2'(\xi) < g_1'(\xi)$ for any $\xi > 0$.

Proof. Since $g_i''(0) = -\alpha \lambda_i < 0$, $g_i'(0) = 0$ and $\lambda_2 > \lambda_1$, there exists sufficiently small $\xi_0 > 0$ such that $g_2(\xi) > g_1(\xi)$, $g_2'(\xi) < g_1'(\xi)$ for any $0 \le \xi < \xi_0$.

Let $R := \text{supremum of all such } \xi_0$'s, we claim that $R = \infty$. If it is finite, let

$$H(\xi) \coloneqq \frac{g_2}{g_1}.$$

We know that

$$H(0) > 1$$
, $H'(0) = 0$.

Let $\xi_1 > 0$ be such that $H(\xi) > 1$ for $0 \le \xi < \xi_1$ and $H(\xi_1) = 1$ (such an ξ_1 would exist because we are assuming $R < \infty$).

But $H'(\xi) = W(\xi)/q_1(\xi)^2$, where W is the wronskian

$$W(\xi) = g_2'(\xi)g_1(\xi) - g_2(\xi)g_1'(\xi).$$

Using equation (3.2.1), one sees that W satisfies the differential equation

$$\begin{split} \frac{d}{d\xi}(W(\xi)e^{h(\xi)}) &= e^{h(\xi)}(\frac{\xi}{2}W + qg_1^{q-1}W + g_2''g_1 - g_1''g_2) \\ &= e^{h(\xi)}g_1(g_2^{q-1} - g_1^{q-1})[g_2(g_1^{q-1} + g_2^{q-1}) - qg_2'], \end{split}$$

where
$$h(\xi) := \frac{\xi^2}{4} + \int_0^{\xi} q g_1^{q-1} ds$$
.

Since the right hand side is strictly positive for $0 \le \xi < \xi_1$ this implies that $W(\xi) > 0$ and $H'(\xi) > 0$ for $0 < \xi < \xi_1$. This contradicts to $H(0) > 1 = H(\xi_1)$. This completes the proof.

Remark 3.11. Indeed, by Theorem 3.10 we may find the fast orbit as a monotone limit of slow orbits and we may easily prove the uniqueness of fast and slow orbits, c.f. see [20].

4. The Case
$$\alpha < 0$$
 (0 < $q < 1$, 0 < $p < 1$)

The standard theory of initial value problems imply the existence and uniqueness of solutions in a neighborhood of the origin. At $\xi = 0$, $g''(0) = -\alpha\lambda > 0$. So in a small neighborhood of origin g is increasing and positive. Lemma 2.2 implies that the solution is blow-up.

We first show that the solution does not blow-up in finite time and then we show that there are only one type of positive solutions, that is, slow orbits.

Lemma 4.1. *Let g be a solution of problem* (1.5), (1.10).

Then $g'(\xi) > 0$ for any $\xi > 0$ and $\lambda > 0$, moreover g cannot blow-up for finite ξ .

Proof. Let $\xi_0 > 0$ be the first zero for g'. We have $g''(\xi_0) > 0$. This is impossible. Thus, $g'(\xi) > 0$ for any $\xi > 0$. (Indeed, by Lemmas 2.2 and 2.3.)

Suppose that g is blow-up at $\overline{\xi} < \infty$. Set

$$E := (g')^2 + \alpha g^2 - \frac{2}{p+1} g^{p+1}. \tag{4.1}$$

Using (4.1), (1.5) one sees that $E'(\xi) = -2(g')^2 \left[\frac{\xi}{2} + qg^{q-1}\right] < 0$, for all

 $\xi \in (0, \overline{\xi})$. Hence $E(g) \le \alpha \lambda^2 - \frac{2}{p+1} \lambda^{p+1} < 0$. Since 0 < q < 1, we have

$$(g')^2 + \alpha g^2 - \frac{2}{p+1} g^2 \lambda^{p-1} \le E < 0,$$

for all $\xi \in (0, \overline{\xi})$.

This means that

$$(g')^2 < \left(-\alpha + \frac{2}{p+1}\lambda^{p-1}\right)g^2$$

on the same interval so $g(\xi) < \exp\left(\sqrt{-\alpha + \frac{2}{p+1}\lambda^{p-1}\xi}\right)$. This contradicts to the assumption. Thus, g cannot blow-up for finite ξ .

Lemma 4.2.

$$\lim_{\xi \to \infty} g(\xi) = +\infty.$$

Proof. Suppose that g is bounded. Since g' > 0, we have $g \to g_0$ $< \infty$ as $\xi \to \infty$. First there exists sequence ξ_n such that $g'(\xi_n) \to 0$ as $\xi_n \to \infty$.

Now define the energy function $E(g) := (g')^2 + \alpha g^2 - \frac{2}{p+1} g^{p+1}$. By differentiating we have $\frac{d}{d\xi} E(g) = -2(g')^2 \left(\frac{\xi}{2} + q |g|^{q-1}\right) < 0$. Hence E(g) is monotone decreasing for any ξ and so deduce that $g'(\xi) \to 0$ as $\xi \to \infty$.

By equation (1.5) we get

$$\begin{split} \lim_{\xi \to \infty} & \left(g'' + \frac{\xi}{2} g' \right) = \lim_{\xi \to \infty} (-\alpha g - q g^{q-1} g' + g^p) \\ & = -\alpha g_0 + g_0^p > \frac{1}{2} \left(-\alpha g_0 + g_0^p \right) > 0. \end{split}$$

And so

$$g^{\prime\prime}+\frac{\xi}{2}\,g^{\prime}>\frac{1}{2}\left(-\alpha g_0+g_0^p\right),$$

for large $\xi > 0$.

Integrating we obtain

$$g'(\xi) > \frac{1}{2} (-\alpha g_0 + g_0^p) e^{-\frac{\xi^2}{4}} \int_0^{\xi} e^{\frac{s^2}{4}} ds.$$

482

Since

$$\lim_{\xi \to \infty} \frac{\int_0^{\xi} e^{\frac{s^2}{4}} ds}{\frac{1}{\xi} e^{\frac{\xi^2}{4}}} = 2,$$

we infer

$$g'(\xi) > \frac{C}{\xi}$$
 for large ξ

for some positive number C, which implies that $g(\xi) \to +\infty$ as $\xi \to +\infty$. This is impossible which completes the proof.

We next investigate the behavior of g for large ξ . Recall that u is bounded by $\sqrt{-\alpha + \frac{2}{p+1}\lambda^{p-1}}$ as in the proof of Lemma 4.1.

Set $u(\xi) = \frac{g'}{g}$, then u such that

$$u'+\frac{\xi}{2}u=-\alpha+\varphi(\xi),\quad u(0)=0$$

here $\varphi(\xi) = -qg^{q-1}u - u^2 + g^{p-1}$.

By calculation, we know that

$$u(\xi) = e^{-\frac{\xi^2}{4}} \int_0^{\xi} \{-\alpha + \varphi(s)\} e^{\frac{s^2}{4}} ds,$$

for any $\xi > 0$, and by the L'Höpital's rule, we obtain

$$\lim_{\xi \to \infty} \xi u(\xi) = \lim_{\xi \to \infty} \frac{\int_0^{\xi} \{-\alpha + \varphi(s)\} e^{\frac{s^2}{4}} ds}{\frac{1}{\xi} e^{\frac{\xi^2}{4}}} = \lim_{\xi \to \infty} (-2\alpha + 2\varphi(\xi)).$$

The last inequality yields that $u(\xi)$ at ∞ behaves like $(-2\alpha + 2\varphi(\xi))/\xi$.

On the other hand, it is easy to see that

$$| \varphi(\xi) | \leq q \sqrt{-\alpha + \frac{2}{p+1} \lambda^{p-1}} g^{q-1} + \left(\sqrt{-\alpha + \frac{2}{p+1} \lambda^{p-1}} \right)^2 + g^{p-1}$$

so it is clearly implies that $u(\xi) \to 0$ as $\xi \to \infty$, and then $\varphi(\xi) \to 0$.

Theorem 4.3. Assume that $\alpha < 0 \ (0 < q < 1, \ 0 < p < 1)$. Let g be a solution of problem (1.5), (1.10).

Then there exists $L(\lambda) > 0$ such that

$$g(\xi, \lambda) = L(\lambda) \xi^{-2\alpha} \{1 - c\xi^{-2} + o(\xi^{-2})\},$$

 $as \ \xi \rightarrow \infty, \ where \ c := -2\alpha(1+2\alpha) + 2\alpha q[\mathrm{L}(\lambda)]^{q-1} + [\mathrm{L}(\lambda)]^{p-1}.$

Proof. Since

$$\lim_{\xi \to \infty} \frac{g'}{g} = 0,$$

$$\lim_{\xi \to \infty} \varphi(\xi) = 0$$

we have $\lim_{\xi \to \infty} \xi u(\xi) = -2\alpha$ and

$$\begin{split} \lim_{\xi \to \infty} \xi^2(\xi u(\xi) + 2\alpha) &= 2 \lim_{\xi \to \infty} \xi^2 \varphi(\xi) - 4\alpha \\ &= -8\alpha^2 - 4\alpha + 2 \lim_{\xi \to \infty} (\xi^2 g^{p-1} - q \xi^2 g^{q-1} u), \end{split}$$

where $\varphi(\xi) = -g^{q-1}u - u^2 + g^{p-1}$.

By simple calculation, we obtain

$$\lim_{\xi \to \infty} (\xi^2 g^{p-1} - q \xi^2 g^{q-1} u) = \lim_{\xi \to \infty} [(\xi^{\frac{2}{p-1}} g)^{p-1} - q(\xi u) (\xi^{\frac{1}{q-1}} g)^{q-1}]$$
$$= (L(\lambda))^{p-1} + 2\alpha q (L(\lambda))^{q-1},$$

and so

$$\lim_{\xi \to \infty} \xi^2(\xi u(\xi) + 2\alpha) = -8\alpha^2 - 4\alpha + 2(L(\lambda))^{p-1} + 4\alpha q(L(\lambda))^{q-1} := 2c.$$

Thus, $u = \frac{g'}{g}$ satisfies

$$u(\xi) = \frac{-2\alpha}{\xi} + \frac{2c}{\xi^3} + \frac{o(\xi)}{\xi^3}$$
 for large ξ ,

which leads to

$$g(\xi, \lambda) = L(\lambda) \xi^{-2\alpha} \{1 - c\xi^{-2} + o(\xi^{-2})\},$$

as $\xi \to \infty$.

References

- Piotr. Biler and Grzegorz. Karch, A Neumann problem for a convection-diffusion equation on the half-line, Ann. Polon. Math. 74 (2000), 79-95.
- [2] H. Brezis, L. A. Peletier and D. Terman, A very singular solution of the heat equation with absorption, Arch. Rational Mech. Anal. 95(3) (1986), 185-209.
- [3] B. Bukiet, J. Pelesko, X. L. Li and P. L. Sachdev, A characteristic based numerical method with tracking for nonlinear wave equations, Comput. Math. Appl. 31(7) (1996), 75-99.
- [4] So-Young Choi, On self-similar solutions of a parabolic partial differential equation, Doctoral Thesis, 2003.
- [5] P. Concus and W. Proskurowski, Numerical solution of a nonlinear hyperbolic equation by the random choice method, J. Comput. Phys. 30(2) (1979), 153-166.
- [6] M. Escobedo, O. Kavian and H. Matano, Large time behavior of solutions of a dissipative semilinear heat equation, Comm. Partial Differential Equations 20(7-8) (1995), 1427-1452.
- [7] M. Escobedo and J. L. Vazquez, A diffusion-convection equation in several space dimensions, Indiana Univ. Math. J. 42(4) (1993), 1413-1440.
- [8] M. Escobedo and E. Zuazua, Large time behavior for convection-diffusion equations in R^N, J. Funct. Anal. 100(1) (1991), 119-161.
- [9] L. C. Evans, Partial Differential Equation, Vol. 3B, Berkeley Mathematics Lecture Notes, 1994.
- [10] M. Garhey and D. Levine, Massively parallel computation of conservation laws, Parallel Comput. 16(2-3) (1990), 293-304.
- [11] M. Guedda, Self-similar solutions to a convection-diffusion processes, Electron. J. Qual. Theory Differ. Equ. (2000), No. 3, 17pp.
- [12] M. Kwak, A porous media equation with absorption. II: Uniqueness of the very singular solution, J. Math. Anal. Appl. 223(1) (1998), 111-125.
- [13] M. Kwak, A porous media equation with absorption. I: Long time behaviour, J. Math. Anal. Appl. 223(1) (1998), 96-110.

- [14] M. Kwak, A semilinear heat equation with singular initial data, Proc. Roy. Soc. Edinburgh Sect. A 128(4) (1998), 745-758.
- [15] M. Kwak and Kyong Yu, The asymptotic behaviour of solutions of a semi-linear parabolic equation, Discrete Contin. Dynam. Systems 2(4) (1996), 483-496.
- [16] H. E. Layton, E. B. Pitman and L. C. Moore, Bifurcation analysis of TGF-mediated oscillations in SNFGR, Am. J. Physiol. 261(1991), 904-919.
- [17] J. D. Murray, On the Gunn effect and other physical examples of perturbed conservation equations, J. Fluid Mech. 44 (1970), 315-346.
- [18] D. J. Needham and J. H. Merkin, The development of nonlinear waves on the surface of a horizontally rotating thin liquid film, J. Fluid Mech. 184 (1987), 357-379.
- [19] J. J. C. Nimmo and D. G. Crighton, Geometrical and diffusive effects in nonlinear acoustic propagation over long ranges, Philos. Trans. Roy. Soc. London A 320 (1986), 1-35.
- [20] L. A. Peletier and H. C. Serafini, A very singular solution and other self-similar solutions of the heat equation with convection, Nonlinear Anal. 24 (1995), 29-49.
- [21] L. A. Peletier and D. Terman, A very singular solutions of the porous media equation with absorption, J. Differential Equations 65 (1986), 396-410.
- [22] Z. Q. Wu, J. N. Zhao, J. X. Yin and H. L. Li, Nonlinear Diffusion Equations, World Scientific, 2001.